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76

78

80

8282

0
+
0
0
0

0
+
0
9
0

[m
 n
.p
.m

]

76

78

80

8282

0
+
0
0
0

0
+
0
5
7

[m
 n
.p
.m

]

76

78

80

8282

0
+
0
0
0

0
+
0
5
5

[m
 n
.p
.m

]

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

9
.0

0

W
 k

m
 0

+
0
1
5
.7

7

R
z
 7

8
.9

5

W
 k

m
 0

+
0
3
1
.5

3

R
z
 7

9
.0

0

W
 k

m
 0

+
0
4
6
.4

7

R
z
 7

8
.9

6

W
 k

m
 0

+
0
5
4
.7

3

R
z
 7

8
.9

8

i = -0.30%

L = 15.77 m

i = 0.30%

L = 15.77 m

i = -0.30%

L = 14.93 m

i = 0.30%

L = 8.26 m

    PODNIESIENIE NIWELETY 0
.0

1

0
.0

4

0
.0

2

0
.0

1

 OBNIflENIE NIWELETY 0
.0

2

0
.0

3

 RZ˚DNE NIWELETY 7
9
.0

0

7
8
.9

5

7
8
.9

7

7
9
.0

0

7
8
.9

7

7
8
.9

6

7
8
.9

8

 ELEMENTY NIWELETY 
i = -0.30%

L = 15.77 m

i =
 0.
30

%
L =
 15
.77
 m

i = -0.30%

L = 14.93 m

i =
 0
.3
0%

L 
= 
8.
26
 m

 RZ˚DNE ISTNIEJ¥CE 7
8
.9

9

7
8
.9

7

7
8
.9

7

7
8
.9

6

7
8
.9

5

7
8
.9

5

7
9
.0

1

 ODLEG£O�CI 0
0
.0

0

1
5
.7

7

2
0
.0

0

3
1
.5

3

4
0
.0

0

4
6
.4

7

5
4
.7

3

 PIKIETAfl 

 ELEMENTY TRASY L = 54.73 m

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

9
.2

3

W
 k

m
 0

+
0
1
1
.6

7

R
z
 7

9
.0

7

W
 k

m
 0

+
0
5
5
.4

3

R
z
 7

8
.8

7

i = -1.40%
L = 11.67 m

i = -0.45%

L = 43.76 m

    PODNIESIENIE NIWELETY 0
.0

4

 OBNIflENIE NIWELETY 0
.0

3

0
.0

2

0
.0

1

0
.0

7

 RZ˚DNE NIWELETY 7
9
.2

3

7
9
.0

7

7
9
.0

3

7
8
.9

4

7
8
.8

7

 ELEMENTY NIWELETY 
i = -1.40%

L = 11.67 m i = -0.45%

L = 43.76 m

 RZ˚DNE ISTNIEJ¥CE 7
9
.1

9

7
9
.1

0

7
9
.0

5

7
8
.9

5

7
8
.9

4
7
8
.9

4

 ODLEG£O�CI 0
0
.0

0

1
1
.6

7

2
0
.0

0

4
0
.0

0

5
5
.4

3
5
5
.4

3

 PIKIETAfl 

 ELEMENTY TRASY L = 55.43 m

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

8
.8

7

W
 k

m
 0

+
0
2
2
.3

0

R
z
 7

9
.0

1

P
L
P
 k

m
 0

+
0
4
4
.4

6

R
z
 7

9
.0

8
M

a
x
 0

+
0
4
6
.2

6

R
z
 7

9
.0

8
W
 k

m
 0

+
0
4
9
.2

6

R
z
 7

9
.0

9
K

L
P
 k

m
 0

+
0
5
4
.0

6

R
z
 7

9
.0

3

i = 0.65%

L = 22.30 m

i = 0.30%

L = 22.16 m

i = -1.30%
L = 1.17 m

L = 9.60 m

f = -0.02 m

R = 600 m

    PODNIESIENIE NIWELETY 

 OBNIflENIE NIWELETY 0
.0

5

0
.0

2
0
.0

2

 RZ˚DNE NIWELETY 7
8
.8

7

7
9
.0

0

7
9
.0

1

7
9
.0

7

7
9
.0

8

7
9
.0

3
7
9
.0

2

 ELEMENTY NIWELETY 
i = 

0.6
5%L =

 22
.30
 m

i = 
0.3

0%L =
 22
.16
 m

R = 600 m

L2 = 4.80 m

L1 = 4.80 m

i =
 -1
.3
0
%

L
 =
 1
.1
7
 m

 RZ˚DNE ISTNIEJ¥CE 7
8
.9

2
7
8
.9

2

7
9
.0

0

7
9
.0

1

7
9
.0

7

7
9
.0

8

7
9
.0

5
7
9
.0

4

 ODLEG£O�CI 0
0
.0

0
0
0
.0

0

2
0
.0

0

2
2
.3

0

4
0
.0

0

4
4
.4

6

5
4
.0

6
5
5
.2

3

 PIKIETAfl 

 ELEMENTY TRASY L = 55.23 m

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

9
.0

7
P

L
P
 k

m
 0

+
0
0
4
.8

9

R
z
 7

9
.0

1
W
 k

m
 0

+
0
1
0
.1

4

R
z
 7

8
.9

4
M
in
  
0
+
0
1
2
.6

9

R
z
 7

8
.9

6
K

L
P
 k

m
 0

+
0
1
5
.3

9

R
z
 7

8
.9

7

W
 k

m
 0

+
0
2
8
.7

0

R
z
 7

9
.0

2

W
 k

m
 0

+
0
4
4
.3

3

R
z
 7

8
.9

8

W
 k

m
 0

+
0
5
3
.8

5

R
z
 7

9
.0

1

i = -1.30%
L = 4.89 m

i = 0.45%

L = 13.31 m

i = -0.30%

L = 15.63 m

i = 0.30%

L = 9.52 m

L = 10.50 m

f = 0.02 m

R = 600 m

    PODNIESIENIE NIWELETY 0
.0

6

0
.0

1

0
.0

1

0
.0

3

0
.0

4

 OBNIflENIE NIWELETY 0
.0

1

 RZ˚DNE NIWELETY 7
9
.0

7

7
9
.0

1

7
8
.9

7

7
8
.9

9

7
9
.0

2

7
8
.9

9

7
8
.9

8

7
9
.0

1

 ELEMENTY NIWELETY 

i = -1.30%
L = 4.89 m

R = 600 m

L2 = 5.25 m

L1 = 5.25 m

i =
 0.
45

%
L =
 13
.31
 m

i = -0.30%

L = 15.63 m

i =
 0
.3
0%

L 
= 
9.
52
 m

 RZ˚DNE ISTNIEJ¥CE 7
9
.0

1
7
9
.0

1

7
9
.0

0

7
8
.9

7

7
8
.9

8

7
8
.9

9

7
8
.9

9

7
8
.9

9

7
8
.9

7

 ODLEG£O�CI 0
0
.0

0
0
0
.0

0

0
4
.8

9

1
5
.3

9

2
0
.0

0

2
8
.7

0

4
0
.0

0

4
4
.3

3

5
3
.8

5

 PIKIETAfl 

 ELEMENTY TRASY L = 53.85 m

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

9
.0

3

P
L
P
 k

m
 0

+
0
2
4
.9

8

R
z
 7

9
.1

6
M

a
x
 0

+
0
2
9
.9

8

R
z
 7

9
.1

7
W
 k

m
 0

+
0
3
2
.7

3

R
z
 7

9
.1

9

K
L
P
 k

m
 0

+
0
4
0
.4

8

R
z
 7

9
.1

1

W
 k

m
 0

+
0
5
4
.9

6

R
z
 7

8
.9

6

i = 0.50%

L = 24.98 m

i = -1.05%
L = 14.48 m

L = 15.50 m

f = -0.03 m

R = 1000 m

    PODNIESIENIE NIWELETY 0
.0

2

0
.0

1

0
.0

2
0
.0

2

 OBNIflENIE NIWELETY 

 RZ˚DNE NIWELETY 7
9
.0

3

7
9
.1

3

7
9
.1

6

7
9
.1

2
7
9
.1

1

7
8
.9

6

 ELEMENTY NIWELETY 
i = 0
.50

%L =
 24
.98
 m

R = 1000 m

L2 = 7.75 m

L1 = 7.75 m
i = -1.05%

L = 14.48 m

 RZ˚DNE ISTNIEJ¥CE 7
9
.0

3

7
9
.1

1

7
9
.1

5

7
9
.1

0
7
9
.0

9

7
8
.9

6
7
8
.9

6

 ODLEG£O�CI 0
0
.0

0

2
0
.0

0

2
4
.9

8

4
0
.0

0
4
0
.4

8

5
4
.9

6
5
4
.9

6

 PIKIETAfl 

 ELEMENTY TRASY L = 54.96 m

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

9
.3

8

W
 k

m
 0

+
0
0
7
.6

9

R
z
 7

9
.2

7

W
 k

m
 0

+
0
4
9
.3

9

R
z
 7

9
.0

8

W
 k

m
 0

+
0
8
9
.5

1

R
z
 7

8
.8

0

i = -1.40%
L = 7.69 m

i = -0.45%

L = 41.69 m
i = -0.70%

L = 40.12 m

    PODNIESIENIE NIWELETY 0
.0

2

0
.0

1

0
.0

3

0
.0

2

 OBNIflENIE NIWELETY 0
.0

1

0
.0

3

 RZ˚DNE NIWELETY 7
9
.3

8

7
9
.2

7

7
9
.2

1

7
9
.1

2

7
9
.0

8

7
9
.0

1

7
8
.8

7

7
8
.8

0

 ELEMENTY NIWELETY 

i = -1.40%
L = 7.69 m i = -0.45%

L = 41.69 m
i = -0.70%

L = 40.12 m

 RZ˚DNE ISTNIEJ¥CE 7
9
.3

6
7
9
.3

6

7
9
.2

7

7
9
.2

0

7
9
.1

2

7
9
.0

9

7
8
.9

8

7
8
.8

5

7
8
.8

3

 ODLEG£O�CI 0
0
.0

0
0
0
.0

0

0
7
.6

9

2
0
.0

0

4
0
.0

0

4
9
.3

9

6
0
.0

0

8
0
.0

0

8
9
.5

1

 PIKIETAfl 

 ELEMENTY TRASY L = 89.51 m

W
 k

m
 0

+
0
0
0
.0

0

R
z
 7

8
.8

4

W
 k

m
 0

+
0
0
8
.7

8

R
z
 7

8
.7

8

W
 k

m
 0

+
0
2
4
.5

5

R
z
 7

8
.7

3

W
 k

m
 0

+
0
4
0
.2

6

R
z
 7

8
.8

6

W
 k

m
 0

+
0
5
2
.6

6

R
z
 7

9
.2

3

i = -0.70%
L = 8.78 m

i = -0.35%

L = 15.77 m

i = 0.85%

L = 15.71 m

i = 3
.00%

L =
 12.

41 m

    PODNIESIENIE NIWELETY 0
.0

2

0
.0

4

0
.0

6

0
.0

7

0
.0

2
0
.0

2

 OBNIflENIE NIWELETY 

 RZ˚DNE NIWELETY 7
8
.8

4

7
8
.7

8

7
8
.7

4

7
8
.7

3

7
8
.8

6
7
8
.8

6

7
9
.2

3

 ELEMENTY NIWELETY 

i = -0.70%
L = 8.78 m

i = -0.35%

L = 15.77 m

i =
 0.
85

%
L =
 15
.71
 m

i =
 3
.0
0%

L 
= 
12
.4
0 

m

 RZ˚DNE ISTNIEJ¥CE 7
8
.8

2
7
8
.8

2

7
8
.7

4

7
8
.6

8

7
8
.6

6

7
8
.8

4
7
8
.8

4

7
9
.2

3

7
9
.2

5

 ODLEG£O�CI 0
0
.0

0
0
0
.0

0

0
8
.7

8

2
0
.0

0

2
4
.5

5

4
0
.0

0
4
0
.2

6

5
2
.6

6

5
7
.4

8

 PIKIETAfl 

 ELEMENTY TRASY L = 57.48 m


